Efficiency vs P,

10.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015

N s e e
0.005f+++exereireenenneens e RTINS

1.0

Ratio

=
I
2 3
+
i
- -
——T

[—=— DQM_mKFT_TToriginal
mkFit_ TTNEW

_m
m

10

. Gedf’

KFit_TTNEW50
kFit_ TTNEW100

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005

...........

..................................

.............

................

= H e INNILE

© g ) (FT TR T
ooft - I Bt i I
R i : i 1
83— = 1 1 2 3

Efficiency vs ¢

o0.05F
A R T WL
S A
[5) . . . . . . .




	Contents
	Page 1


